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Mass & pdisrtribution for AKZ
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Mass & pdisrtribution for AK4 Jets &N
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Mass & pdisrtribution for AK4
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Mass & prdisrtribution for AK3 Jets &N
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Mass & prdisrtribution for AK3 Jets &N
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Mass & prdisrtribution for AK3 Jets &N
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Mass & ppdisrtribution for WR Ak4 Jet
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Mass & ppdisrtribution for WR Ak4 Jet
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Mass & ppdisrtripution for
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Mass & ppdisrtribution for WR AKS8 Jet
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Mass & prdisrtri

) -
. L Myr=2000 GeV, m =100 GeV
< [ CMS
0.3~ Simulation ——— mye=2000 GeV, m, =1000 GeV
E — My=2000 GeV, m =1900 GeV
0.25—
0.2:— —l_
0.15 .
GenJetAKS8 B _|_'_
Leading 0.1 —L
> 200, |n|<2.4 N
Pr |7l 0.05
: - L
. . , O_HI||||||1||||\|||L—A—‘IHMHMH
Cleaning ( tau not inside Jet) 0 200 400 600 800 1000 1200 1400 1600 1800 2000
p, of AK8 jet
> 12
. - Myr=2000 GeV, m =100 GeV
< L CcMS
- Simulation ——— m,z=2000 GeV, m =1000 GeV
1_

N reco by AK8 o

0.6
0.4
0.2

0

I~ — My,=2000 GeV, m =1900 GeV

PPN TN soveuvowen SUSTERTRNTIN

0 50 100 150 200 250 300 350 400 450 500

mM(Te AKS jet)

Sample : Wy, 2000 GeV (N100, N100O , N1900 )

ution f

A.U.

0.5

0.4

0.3

0.2

0.1

or W (Ak8 Jer

——— m=2000 GeV, m =100 GeV

CMS

Slmulatlon — Myp=2000 GeV, m =1000 GeV

— Myp=2000 GeV, m =1900 GeV

IIIlIII

0 200 400 600 800 1000 1200 1400 1600

P, of ©

Hadronic Tau (GenVisTau)

Leading

13

N
<‘ 045:— CMS — Myp=2000 GeV, m =100 GeV
O.4i Simulation ——— My=2000 GeV, m,=1000 GeV
E ——— m;=2000 GeV, m, =1900 GeV
0.35—
0.3 |
0.25
0.2 [T1—
0.15— ]
0.1—
0.05[ | |
o:IIIIIII[IIII | '|"|
0 200 400 600 800 1000 1200 1400 1600
p, of 7, AK8 jet
D: 045E
< . :— CMS — Myp=2000 GeV, m =100 GeV
0.4 f_ Simulation ——— My=2000 GeV, m =1000 GeV
E ———— mMy=2000 GeV, m, =1900 GeV
0.35—
0.3
0.25
= —
0.2~
0.15[—
0.1
0.05—
():'IIIIII|IIIIIII“IIIII|IIII
0 500 1000 1500 2000 2500 3000

m(t_. AKS jet)

pri

Wy reco by AK8



Mass & ppdisrtripution f
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Back Up

Leptonic secondary tau -> not using e/mu, using tau from N ( hadronic tau )
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N reconstruction
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Mass & pdisrtribution for AK4 Jets &N
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